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.{' TrF W F A UE E IR Ahm | v # afe T 3 6 3. Only one answer is to be given for each question. If more than

one answers are marked, it would be treated as wrong answer.

4. The OMR Answer Sheet is inside this Question Booklet.

When you are directed to open the Question Booklet. take out

the Answer Sheet and fill in the particulars carefully with Blue

Ball Point Pen only.

Please correctly fill your Roll Number in OMR Answer Sheet.

Candidates will themselves be responsible for filling wrong

Roll No.

6. Use of Correction Pen/Whitener in the OMR Answer
Sheet is strictly forbidden.

7.  1/3 part of the mark(s) of each question will be deducted
for each wrong answer. A wrong answer means an incorrect
answer or more than one answers for any question.

8.  Each question has five options marked as I, 2, 3, 4, 5. You
have to darken only one circle (bubble) indicating the
correct answer on the Answer Sheet using BLUE BALL
POINT PEN. :

9.  If you are not attempting a question then you have to darken
the circle *5°. If none of the five circles is darkened, one third
(1/3) part of the marks of question shall be deducted.

10.* After solving question paper, candidate must ascertain
that he/she has darkened one of the circles (bubbles) for
each of the questions. Extra time of 10 minutes beyond
scheduled time, is provided for this.

11. A candidate who has not darkened any of the five circles in
more than 10% questions shall be disqualified.

12. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Versions of the
question, the English Version will be treated as standard.

13. Mobile Phone or any other electronic gadget in the
examination hall is strietly prohibited. A candidate found
with any of such objectionable material with him/her will
be strictly dealt with as per rules.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged against

him/her in the Police Station and he/she would be liable to be prosecuted
under Rajasthan Public Examination (Measures for Prevention of

Unfair means in Recruitment) Act, 2022 & any other laws

applicable and Commission’s Rules-Regulations. Commission may

also debar him/her permanently from all future examinations.
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2.

ad

| A
B.
C.
D.

When a ball is kicked, the
acceleration of the ball will be
proportional to the force applied to
the ball by the kicker’s foot and
inversely proportional to the mass
of the ball, is an example of
Newton’s

(1) . Law of Inertia ‘

‘(2) Law of Momentum

(3) Law of Interaction

(4) Law of Effect

(5) Question not attempted

Standing on tiptoe is an example of
which type of lever ?

(1) 1stclass lever

(2) 20d class lever

(8) 3rdclass lever

(4) Combination of 1%t & 3 class lever
(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below :
List—1I ; List — II
(Planning Year)

iv. Montreal

Codes:

' AR O T)

(B} v v oF 1

() 38 cBo ]

€3)- diins 1 fiven S0

(D) o1 i hyee e

(5) Question not attempted

When the cue ball hits another ball

~in a billiards game, the system’s

overall momentum, both before

and after the impact, stays the

same because .

(1) the balls are completely
elastic.

(2) there is no outside force
acting on the system.

(3) a steady force is applied by
the cue stick.

(4) the masses of the balls are
equal.

(5) Question not attempted
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(Planning City)
IVth Olympics, 1908 i Amsterdam
IXth Olympics, 1928 1. Sydney
XXIst Olympics, 1976 iii. London
XXVIIth Olympics,
2000
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Which of the following statement is

not correct ?

(1) Sole of the foot rotates outward
through anteroposterior axis
in frontal plane is called as
eversion.

(2) Sole of the foot rotates inward
through anteroposterior axis
in frontal plane is called as
Inversion.

(3) Rotation of palm at radioulnar
joint around a suproinferior
axis to turn away from the
body is called pronation.

(4) Frontal plane motion around
an anteroposterior axis at the
wrist is called deviation.

(5) Question not attempted

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists

considering muscles and their
origins :
List -1 List - I
A. Adductor i. Tuberosity of
longus the ischium

B. Long head of  ii. Crest of the
biceps femoris pubis
C. Rectus ii1. Outer surface
abdominis of the ilium
D. Gluteus medius iv. Anterior part
of the pubis
Codes:
A B G--B
(1) i W3 B
2y 1 v i m
) e\ e Ll
@ v O PGERTRE
(5) Question not attempted

Grasping or compressing a muscle
or muscle group, applying pressure
and then releasing the pressure
slowly, gently and rhythmically is
a kind of massage :
(1) Stroking (2) Efflurage
(3) Petrissage (4) Kneading
(5) Question not attempted
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10.

Which of the following are the

main goals of therapeutic

modalities ?

(a) Reduction of circulation

(b) Reduction of oedema

(¢) Promotion of tissue healing
(d) Reduction of fibrous tissue

Select the correct answer using the
codes given below :

Codes :

1) (a),®) &(@©

2) (), (¢ & (d)

3) (@), () & (@

(4) (b) & (c) only

(5) Question not attempted

Which of the following factor has

the  greatest  influence on

maximizing projectile range in

Javelin ?

(1) Initial velocity and angle of
release

(2) Mass of the projectile

(3) Rotational inertia of thrower

(4) Height of the athlete relative
to the ground

(5) Question not attempted

What will be the effect on

Coefficient of Restitution, if speed

of the collision increases ?

(1) Coefficient of Restitution will
increase.

(2) Coefficient of Restitution will
decrease.

(3) Coefficient of Restitution will
remain constant.

(4) Coefficient of Restitution will
reach towards perfect collision.

(5) Question not attempted
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11. Which one of the following is

considered as Horizontal
component in Angle of Pull ?

(1) Rotary component

(2) Non-rotary component

(3) Stabilizing component

(4) Dislocating component

(5) Question not attempted
Which of the following company is
associated the main official
timekeeping in the 33rd Olympics ?
(1) OMEGA (2) SEIKO

(3) ORIS (4) HUBLOT.
(5) Question not attempted

Match the List — I with List —1II :

List -1 List - II
(Deformities) (Symptoms)
A. Kyphosis 1. Exaggerated
lateral
curvature
B. Lordosis ii. Loss of Foot
, Arch
C. Scoliosis i1i. Exaggeration
of normal
convexity of
. thoracic region
D. Flat Foot iv. Increase in
normal
concavity of
lumbar region
Codes:
n—B €1

(b sy W i@
(Zremes Ay o1 i)
v 1 1B
& v i oon
(5) Question not attempted

The Lachman’s test is designed to
detect the injury of which of the
following ?

(1) Medial collateral ligament

(2) Anterior cruciate ligament

(3) Medial meniscus

(4) Posterior cruciate ligament

(5) Question not attempted
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16.

17.

weight is equally balanced in all
directions is known as

1)
2
3)
(€Y
()
Which one of the following pair is
not correctly matched ?-

(1) Strap musecle - Sartorius

muscle
(2) Multipennote — Deltoid muscle

Point of Application
Non-contact force
Centre of Gravity
Equilibrium

Question not attempted

(3) Sphincter — Trapezius
muscle
(4) Flat muscle — Rectus
: abdominis
muscle

(5) Question not attempted
Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List - I List - II
(Types of (Function)
Bandage)

A. Gauze 1. Stops bleeding
Bandage
B. Compression  ii. Holding a
Bandage dressing in -
place
C. Triangular 111. Venous ulcers
Bandage
D. Tube Bandage iv.Cravat
: Bandage
Codes:
A BB
(40 00T R SR e
Er i o v
) 1 mEEErriN
) it "B T rin

®)

Question not attempted
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18. Which muscles are involved in the

19.

20.

@

hip extension movement while
doing rowing exercise on machine ?
a. Semi-tendinous

b. Semi-membranous

c. Pectineus

d. Gluteus maximus

Select the correct answer using the
codes given below :

Codes:

(1) ab&e

b,e&d

3 ab&d

(4) a,c&d

(5) Question not attempted

Which of the following are the
agonist muscles during ankle
dorsiflexion movement in leg lifter
exercise ?

a. Gastrocenemius

b. Tibialis anterior

c. Peroneus tertius

d. Extensor Digitorum longus
Select the correct answer using
codes given below : :

Codes:

(1 ab&ec

(2) a,c&d

(3) b & conly

4 b,c&d =3

(5) Question not attempted

A setter set the ball for the spiker.
The ball left the setter’s finger at
height of 2 mt. and has a vertical
velocity of 5 m/s upward. How high
the ball will go from the ground ?
(1) 259 mt.

(2) 3.50 mt.

(3) = 327 mit.

(4) 3.90 mt.

(5) Question not attempted
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23.

24.

National Fitness Corps was
recommended by which committee ?

(1)
@
3)
@
®)

Tarachand Committee
Kunzuru Committee

Kaul Kapoor Committee
Adhoc Enquiry Committee
Question not attempted

Which among the following should
not be the basic feature of a good
budget ? _

(1) The budget should be flexible.
(2) The budget should be based

on the reality of all
necessities.

(3) The budget should be prepared
well in advance before the
financial year starts.

(4) All the expenses should be
done before preparing the
budget. :

(56) Question not attempted

In which type of administration

system, administrator hands-off

and allows group members to make
the decisions ?

(1) Laissez Faire Administration
(2) Autocratic Administration
(3) Democratic Administration
(4) Athlete Administration

() Question not attempted

Which one of the following drag is
reduced by adopting drafting
technique in long distance running
events ?

(1) Surface Drag
2
(3)
(4)
(5)

Pressure Drag

Wave Drag

Viscous Drag

Question not attempted
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26.

27.

Which of the following statements

are correct ?

a. The budget should grow out of

~ the needs of the program.

b. Principle of budgeting is to
plan for 30% for contingencies.

c. In budgeting, involve all
people affected in planning
process. ‘

d. In budgeting, ensure proper
approvals by higher
authorities.

Choose the correct option :

(I} a,b.c

() b.e d

3 =ed

(4 a,b,c,d _

(5) Question not attempted

Arrange the steps of budgeting
process in ascending order :
a. Gather the data.

b. Construct the budget.
c. Justify the figures
present the budget.

d. Interpret &
budget.

e. Analyze
facilities.

and
evaluate the

the past budget,

Choose the correct option :

(1) a,c,d,eb
2-a debe
(3) a,b,ce,d
(40 a,e,b,c,d
(5) Question not attempted

How many byes will be given to
lower half in knock-out system if
teams are 21 ?

1 5 2 4

3 6 @ 7

(5) Question not attempted




28,

29.

(1) o afafa
(2) witfeead afafd
(3) TheIehl |
(4) faea wfufq
(5) TR A
30. Tmfafas w1 fiem w1 3 fafim
Tftfai 3 wt & foe a@ fawes g4
Tt -1 et - 11
(afafa) () ™
PN G i ) (o A T 2 1 ) o)
FHEAT 19 IR
Rl
B. @fftfecem afufa i, et 6 gfe
C. fora wfufa  iii. EIiRI BT YEEA
D. ferqom wfify iv. @
% :
A5 B @D
) 3 wcon. e
Q) Haait v
8) By A im v
@) de i, h G
(5) SHITNG e

ﬁmﬁiﬁaaﬁ@ﬂqm‘ﬁ:‘ﬂw
Ffiie & wfire 2 7

(1) ﬁmﬁmﬂﬁWWﬁaﬂﬁ
SicHTtad T

Q) I TYH % Gy Qﬁw Eﬁr
1T ferenfid T :

(3) m_wmuaﬁwm

(4) SAR-FEN il

(5) I e

frafafea & @+ @ afbfa @be &

maﬁxwwﬁg%wﬁm%
forg fomigr 2 7

28.

29.

30.

Which of the following objectives is
included in intramural

tournaments ?

(1) Encouraging mass participation
in an institute
Developing the feeling of
integration with other
- institution
Opportunity for performance
* at highest level
Inter-institution competition

Question not attempted

®

®3)

4)
®)

Which of the following committee
is responsible for holding the
opening and closing ceremony of
the tournament ?

(1) Finance committee

(2) Logistics committee

(3) Technical committee

(4) Hospitality committee

(5) Question not attempted

Match the following and select
correct option of functions of the
various committee :

List -1 List - 11

A.

B.

- T e WA

C.

D.

1
@
@
1@
e

e T SV C

10

Technical

committee

' (Committee)

L

(Work)
Preparing the

MoU with

companies
Confirmation
of officials
Management
of spectators
iv. Accounting

Logistics 1l.
committee
Finance

committee
Marketing
committee

Codes:

A B -G D
3ol T Be e
e iy v
LR e
3 e S |
Question not attempted
54



31.

32.

33.

34.

35.

54

Hieh - 313 SIS 4 Y3 98 i 571
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T ! & T HEeATdl 8 ?

1) =%

2) difen

(3) fareiom (sfeaftrem)

(4) ST TEBR

(5) IR A

frafafea 4 & =0 @ i W Afsw
gieEifianat & fasiarst =1 Fuifa & 3
T el Bl & ? '

(1) i fafy

(2) HarteEA fafy

(3) fafem fafa

(4) e fafa

(5) IgaRd 9=

TS THE % Aqcd Haed I TG B
&l I8 i HET I B

(1) iThTcHS qcd

(2) IS Aqcd

(3) ToraTemss Ag

(4) NG Aqc

(5) IFqARd gH

Fﬁngaﬁzwreﬁﬁﬁﬁsaﬁﬁéaﬁmﬁ
g o I 7
1) 24

(3 22

(5) ARG A

ﬁm%f@ﬁﬁﬁﬁ?mmm‘%mﬁa

2) 26
4) 28

& ST ?

A A :
geit gfanfar

we gfaafiar
Fa-g139 feifar
NG I

(1)
(2)
3
)
)

S WAAEE A TR TGRS WULKBEAS YRTALS V) RS T AR AR AL S
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31.

32.

33.

34.

35.

A method used in knock-out
tournaments that attempts to have
the best players or teams meet in
the final is known as

(1) Bye

(2) Seeding

(3) Elimination

(4) Consolation

(5) Question not attempted

Which of the following is not a
method used to determine the
winner of a Round Robin
tournaments ?

(1) Percentage method

(2) Canadian method

(3) British method

(4) Ratio method

(5) Question not attempted

The leadership role performed in an
organised group is also termed as
(1) Symbolic leadership

(2) Formal leadership-

(3) Functional leadership

(4) Informal leadership

(5) Question not attempted

How many matches will be played
in league tournament system if
teams are 8 ?

(1) 24 2 26

&y 22 4) 28

(5) Question not attempted
Which among the following does
not come under extramural
competition ?

(1) Practice matches

(2) Open competition

(3) Closed competition

(4) Inter-house competition

(5) Question not attempted




. fg fi &t d fafaflga © @ = @1 1 36. Which one of the following is

T I B 7 : recurrent inhibition in the spinal
- o - i cord ?

(1) et e 3111ﬁ i (1) Golgi Tendon organ

(2) T IR _ (2) Renshow cells

(3) YUTEATEAA S ' ! (3) Supraspinal inhibitory

(4) W ofsm 5 (4) Ruffini Endings

(5) E S ? (5) Question not attempted

. F=fafea 4 @ <8 & s@uron g8 37. Which of the following concept

TSR Togid i Helid +di 2 ? | refers to Hennemann size principle ?
(1) ©iE &l Wiiasad ol T "Ml f (1) Load should increase in
afeu | g : progressive manner.
(2) T SH1E hHI el g SIS F qEH ; (2) chruitment of motor  unit
s A | _ ; | from smallest to largest
(3) TISX 3pIS <hl ¥l Tl &<t I gaﬁ 1 (3) Recruitment of motor unit
A FTH | , from largest to smallest
i 4) Size of load increases as
@ 2 g Seie S ik eg - adaptation occurs.
) Wﬁﬁm ! (5) Question not attempted
W | 38. What is the approximate amount
; gﬁﬁ—g ?11—6% e i of ATP stored vsrr)ilt)hin the body ?
(1) 85 g \ (1) 85 g approximately
(2) 95 g T N~ (2) 95 g approximately
3) 100 g =TT (3) 100 g approximately
(4) 105 g T (4) 105 g approximately

(5) Question not attempted

(5) 3TTING A

. STrHTiar &war fefefga § 9 fev w1 89, Vital capacity depends on which of

et e ? : the following ?
a. SeTRRCS WiEARRET 1 A a. Strength  of intercostal
: muscles

b. TARTEIEIER o |

c. WSl N B &I H HBR i . :
. . e Tt d : c. Size of lung and chest cavity

d. : I | d. Number of active alveoli

(1) a,b3Wd (2) a c3Rd

1 ab&d (2 ac&d
@ be3Rd @ ab3e @ bc&d (@ ab&ec

(5) ITTNG S ‘ 5 (5) Question not attempted
12 54

b. Size and strength of heart



40.

41.

42.

54

ﬁm%ﬁaaﬁ@ﬁ:lﬁqmaﬁmm 40.

@ % g [ I & ?

a.  EHNEE

b. AR

c. HEeH

d. TR -

= fou MU %e 6 TEEar ¥ TE SR B

Eoicka®

R ;

(D a,baﬂ'{c (2) a, c AR d

(38) b,c3d (4) a b3mrd

- (5) IgIRA A

@Eﬁzﬁaﬁﬁaﬁwﬁaﬁwm

3iditeh JEHR 3R g0 § e BT &7,

fr=fafea @ @ form fames e @ amar

27

(1) ATaiEs o

(2) =

(3) UeEH TS FrH

(4) ia:fera A

(5) ITFuRd S

e (A) - ﬁaﬁa?ﬁﬁﬁmﬁam
(3 fewmA @) * JFER, |
usaasenﬁawﬁrﬁ@ﬁﬁ%a
S smasad Bidi 2 |

&R (R) : aaaqﬁsqammmﬁﬁ
ﬁéaﬁ%a‘fﬁwﬁa@ﬁzﬁ
Fifigig B ST 2 |

$C:

(1) (A)EE‘(R)%H@%W(R)(A)
HEd e |

2 @A (R)??Iﬁﬂé"r%‘ﬁﬁﬂ(f{),
(A) < TTeTd SATETT # |

B) (A TR, AR ®R) @ |

(4) (A)7Ted 8, dfeh (R) T8I 2 |

(5) 3TTRA A

T TS

41.

42.

Which of the following are oral
anabolic steroid ?

a. Stanozolol

b. Oxandrolone
c. Parabolan

d. Ethylestrenol

Select the correct answer by using
codes below :

Codes :
1 a,b&ec (2) a,c&d
(3) b,ec&d 4 abé&d

(5) Question not attempted

“Athlete’s internalized reasons for
participation are tied to internal
rewards and punishment” falls in
which of the following regulatory
style ?
(1)
2
3
(4)
(5)
Assertion (A) : Drive reduction
theory grew out of the concept
that all living being have
certain biological needs.

Reason (R) : When their need is
satisfied, the drive to satisfy
them increases.

Codes :

(1) Both (A) and (R) are true and
(R) 1s the correct explanation
of (A).

Both (A) and (R) are true but
(R) is not the correct explanation
of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.
Question not attempted

Internal motivation
External regulation
Identified regulation
Introjected regulation
Question not attempted

(@)

3
@
®)



43.

44,

45.

AT (A) : Wi & RIS 981 &
S wgusi fowm wfgm 6 &g
<1 3rafy & fore e daR w7,
wal fosivgar ufvieor AeEr @
Ak A BgaHEd g | -

SR (R) : 30 I8 weedie uiusd 2 8
fordiwsian i fef sedi 2 |

%<

1) (A) 3R R) SHI FeHT- AT T &

3 (R), (A) 1 T EHT 2 |

(A) 3R (R) SHI FAHT-3160 T &

3R (R), (A) HT T THH T&l

21 -

(A)TF 2, Al (R) 38 & |

(A) 3ma g, A R) T B |

NG A

@)

3)
(4)
®)

frafafiga & & w8 @1 gt g §

RN % foTe ‘deie’ QUEhR & Tefid B 7
(1) e gfeehim

(2) TR guYH wHifa

(3) WA grEshIm

(4) gl

(5) 3FTIRG A

fr=fafea § @ =4 9 gedivdyua gaR

$iafEi g ?
a. @&IedEas b
c. THAUEEA d.

MAETA
el

= feu ¢ e i wEmEar 9 w6 W H |

T B
%
@)
@)
(3
4
®)

a, b3Wec
a, c 3R d
b, c 3R d
a, baitd

I 9

e

i
i
|
i

]

|
i
i
i
i
£
i
1
H
i
§
i
i
?
j
|
i
i
i
i
i
i
i
i
i
i
i
H
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43. Assertion

44.

45.

(A) Multilateral
development  during the
athlete’s formative years lays
the groundwork for later
periods of training when
specialization  becomes a
greater focus of the training
plan. :

Reason (R) As the athlete
matures, the degree of
specialization increases.

Codes:

(1) Both (A) and ([R) are
individually true and (R) is
the correct explanation of (A).
Both (A) and (R) are
individually true and (R) is not
the correct explanation of (A).
(A) is true but (R) is false.

(A) is false but (R) is true.
Question not attempted

@)

(3)
(4
(5)

Which of the following approach is
related to ‘Valance’ reward for
motivation in sports ?

(1) Pedagogical approach

(2) Social support strategy

(3) Cognitive approach

(4) Facilitation approach

(5) Question not attempted

Which of the following are -
multiaxial type joints ? ;
a. Condyloid

b.  Arthrodial
c. Enarthrodial
d. Sellar

Select the correct answer using the
codes given below :

Codes :
(1) abé&e
(2 a,c&d
3 b,c&d
4 a,bé&d
(5) Question not attempted
54
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417.

&afe 1 o TS 2 2

(1) ufbeEitE

(2) HIEHIUSAT H T
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47.

HEl I : =
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A A AHBR 1. Icbgl IR Hehlseh
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48.

54

% <

(1)
2)
(3)
(4)
(5) IFANRATA

T fth gl WY SR W i fire 7
M KAl B | AEE % 9I¢ ST
el ved TUMAT 18 1% e 9 88,29
9y, frfe i 67 3 33 3% FFe T 502 | |
f=fefiga d 9 =4 91 =it =1 i |
T GBI & 7

@ 75 (2) 85
3) 95 (4) 105

(5) e v

DD DD
o W oD
DN ==
- 00 D

48.

Which one of the following
component is not the result of
muscle damage ?

(1) Acidosis

(2) Swollen Mitochondria

(3) Distortion of Myofibrillar
(4) Sacrolemma disruption
(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below the lists :

List -1 List - IT
A. Hennemann 1. Combination
size principle of eccentric

and concentric
muscle action
B. Asynchronous 2. Size of the

motor unit
dictates its
activation
C. Stretch - 3. Ability to
shortening exhibit
cycle maximum
strength and
power
D. Type II muscle 4. One unit
fibre deactivates
while other
activates
Codes : '
BB O D
1 1 o i3 4
£ 2 A58
(%) 3= 4
4 4 g =  §

(5) Question not attempted

A subject exercises for 5 minutes
on Harvard step test. His recovery
pulse count after exercise for 1 to
1% min. is 83, 2 to 2% min. is 67
and 3 to 3% min. is 50. Which of
the following is the physical
efficiency index of the subject ?

) 75 (2) 85
3) 95 (4) 105
(5) Question not attempted



49. frafafea & @ weel &1 ®F T 9wq

50.

51.

S

gfen gus F &I H TE A @R ?
(1) iexiE i gfg il &

(2) vezH R

(3) 9 TE A hi &wal

(4) He foemrE ;

(5) 3FFTRG TA

fafafea i s a s T £ 2

a. AT Fie i fHE sk Jiern
FEIEIR |

b. aif¥e FeEm 9o Heed %
FTYUR T IIR h SA1ef1 2 |
TT¥TE0T i1 1 YR S8 |

d. Y& Ik AT Ashl Tk FISHT Bl
YR S 2 |

= fou ™ Fe ¥ ¥ @ fahed &1 ==

Hifsu ; :

(1) a,c3Md

2) a,b3ld

(3) a b3Wc

(4) b,c3Wd

(6) RS

@A Tl FHAl §e ¥4 9

frafafea i frm m sl @ 2

T AT

EISAER

EET IR

9= fou ™ %e § 9 gt fawes w1

S

(1) a, b3Re

(2) a,c3Rd

(3) a, b3rd

(4) b, c3Rd

(5) 3FFTNG T

P

s,

PR SR SRS —— Tt

49.

50.

51.

Which one of the following aspects
of performance is not considered as
talent indicator ?
(1) Rate of
performance

(2) Performance stability

(3) Ability of tolerate load

(4) Motor development

(5) Question not attempted

Which of the following statements

are correct ? ,

a. Operative plan is also called
meso-cycle plan.

b. Yearly plan is prepared on
the ° basis of training
conception.

c. Training conception forms the
basis of all types of training
plans.

d. Micro cycle plan forms the
" basis of macro cycle plans.
Choose the correct option from the

codes given below :

1D ac&d

2 abé&d

3) a,b&e

(40 b,c&d :

(5) Question not attempted

The ability to anticipate depends
primarily on which of the following ?

of

increase

a. Movement structure
b. Experience

c. . Deception

d. Tactical pattern

Choose the correct option from the
codes given below :

(1) a,b&ec
(2) a,c&d
3) a,b&d
4 b,c&d
(5) Question not attempted

54
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92.

53.

54.

Which of the following is not the

objective of the Competitive Phase ?

a. Dissipating  fatigue  and
elevating readiness

b. Gaining competitive experience

c. Learn new technique and
tactic

d. Maintaining
fitness

Select the correct code :

Only a, b & c are correct.

Only a, ¢ & d are correct.

Only a, b & d are correct.

Only a & c are correct.

Question not attempted

sport-specific

Which of the following is not the

objective of preparatory phase ?

a. To familiarize athletes with
the basic strategic
manoeuvres mastered in the
following phase.

b. To teach athletes the theory
and methodology of training
specific to the sport.

c. To develop individualized and

sport-specific nutrition plan.
d. To -cultivate psychological
traits only.

Select the correct code :

(1) Only a, b & ¢ are correct.
(2) Only a, ¢ & d are correct.
(3) Only a, b & d are correct.
(4) Only a & c are correct.

(5) Question not attempted

Which of the following is not
correct about the characteristics of
Main Competitive Subphase ?

(1) Training volume 18
significantly reduced of the -
level of the preparatory phase
for sports that require
technical mastery, speed &
strength.

Intensity of training
gradually increased.
Training intensity becomes
highest 1 week prior to the
main competition.

Training volume kept high for
endurance sports.

Question not attempted

18

@)
3

(C))
)




85.

56.

57.

58.

3
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55.

56.

87.

58.

The repeated short to long bouts of
exercise usually performed at or

the threshold
interspersed with periods of rest or

above lactate

low-intensity exercise is known as

(1) Fartlek training
(2) Interval training
(3) High intensity training
(4) Lactate training

Question not attempted

(®)

What is necessary for superior
physiological adaptations to occur ?

(1) Load must be increased
progressively.

(2) Inadequate periods of
recovery.

(3) A sudden, dramatic increase

in training load.

A decrease in training load
over time.

Question not attempted

4
®)

Which of the following is the

characteristic of tapering in special -

training period immediately

preceding the main competition ?

(1) Stimulus 1s reduced in a non-
linear manner.

(2) Stimulus is increased in a
linear manner.

(3) Stimulus is reduced
linear manner.

)

(6

Which of the following is defined as

Stimulus is kept constant.
Question not attempted

the motor procedure for tackling a

motor task ?

m a

(1) Movement execution
(2) Coordination

(3) Motor learning

(4) Technique

(5)

Question not attempted
- 54
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60.

61.

Which type of training is

associated with Maxex training ?

(1) Heavier resistance followed
by flexibility training

(2) Lower resistance followed by

speed training

(3) Speed training followed by

heavier resistance

(4) Heavier load followed by

explosive movements

Question not attempted

(5)
Who introduced the concept of
depth to the
explosive strength ?

(1)
@
(3)
4)
(65

jump improve

John Endermann
Paolo Cavanga

V. Komi

Yuri Verhoshansky

Question not attempted

Assertion (A) : If athletes are
roughly at the same level of
development and stage of
training, less individualization
of the training plan is needed.

Reason (R) : An athlete who has

high chronological age in
conjunction with a low
training age may need more
multilateral and skill
- acquisition training.
(1) Both (A) and (R) are

individually true and (R) is
the correct explanation of (A).
Both (A) and (R) are
individually true and (R) is
not the correct explanation of
(A).

(A) is true but (R) is false.
(A) is false but (R) is true.
Question not attempted

@)

3)
4

®)
=



62. @auﬁmﬁ;ﬁvh%%qﬁamgaﬁaﬁ

63.

64.

3fea IR FR g AT R ?

(1 7-10a8

(2) 18-21§

(8) 13-14=d

(4) 14-17=9

(5) IFARd A
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0 T SHed i

a. ot @& 3m gr dfer smem
SAHE A e T |

b. dfERT AT R ST e o
97 |

c.  Hehd NI TEE! 37 I OhRT 1 3
o T/ T |

d. T dfeeT e g AHUsi O
ugaa 3 form e wmg | '

e. <hul AP T TR HIE 3TMeM
39 B H foram = T |

f. foceomw

R

(1) c;a, b, e d;f

2). a bje.dic £

3) b,fe dca

4 fe.dabec

(5) SITARA T

ﬁw%rﬁgaﬁﬁaﬂqmwﬂ%ﬁénﬁ

gafera TE 8 7

(1) BRds W& — @A %

Barg |

(2) R nfa yfyiewr — g I W EARE

(3) wifees 3=aue

oslice
— 80% ¥ 100%

(4) TIRIfSS I — <60%
(5) FigaRa s

T S S S R .

N
(=]

62. In which age group Sports talent
can be judged fairly and accurately ?

63.

»
o

(1)
2)
3)
@
®)

7 — 10 years

18 — 21 years

13 — 14 years

14 — 17 years

Question not attempted

Arrange the following phases of

reaction ability in correct sequence :

a. Time taken by sense organ to
generate nerve impulse.

b. Time taken by nerve impulse to
reach concerned center in CNS.

c. Time taken by signal to reach
the sense organ.

d. Time taken by motor nerve
impulse to reach muscle.

e. Time taken by CNS to
generate a motor impulse.

f.  Latent time

Codes :

(1) -esa;b, e d.f

@) a bedect

(3) b,fedca

4 fe d abe

(5) Question not attempted

Which one of the following pair is
not correctly matched ?

(1) Fartlek — HR% max
training varies
method

(2) Continuous — at lactate .
pace training threshold HR

(3) Aerobic -
interval

(4) Anaerobic -
interval

(5) Question not attempted

<60%

80% — 100%
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66.

67.
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AR (A) :
TTfel g % e Yoy HEwEYU 2 |
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T HISHE TIEH hl T2GH H TR 8, |

IE JATIh HIA B |
(1)

FHARX R), (A) F 98 WSROI |
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65.

66.

i 67.

-3

Assertion (A) : The relationship
between = technique and
movement efficiency 18
important in all sports.

Reason (R) : If a runner became

technically skilled and can

optimize his stride rate and
ground contact time, he will
be very efficient. :

Both (A) and - (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and (R) are

individually true and (R) is

not the correct explanation of

(A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

(€Y)

@

(3)
(4)
®)

If an athlete completes a total
distance of 3400 meters in the 12
minutes  Cooper VO, max test,
then what is his VO, max ?

(1) 60.55 ml/kg/min

(2) 64.72 ml/kg/min

(3) 66.82 ml/kg/min

(4) 68.94 ml/kg/min

(5) Question not attempted

Assertion (A) : The pre-
competitive phase primarily
aims . to expose athletes to
unofficial meets.

Reason (R) : These meets enable
the coach to objectively assess

~ the athlete’s readiness across
various training aspects.

Select the correct option :

(1) Both (A) and (R) are

individually true and (R) is

the correct explanation of (A).

Both (A) and (R) are

individually true and (R) is

not the correct explanation of

(A).

(A) is true but (R) is false.

(A) is false but (R) is true.

Question not attempted

)

(4
®)
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69.

70.

7l

72.

fordll Tfvea @ s1s # Telle Bl Th |
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! FI FEI M E 7

(1) e 3 (2) e g9
3 wRmdear @) 9 dEar
(5) TR Fe

39 IR % I % U HAfehad s
T <hl Uetle <hi &7t b1 I ShEl Il & ?
(1) gnfdswe (2) wWHWRG

(8) Wk (Power) (4) 3iftrran witte
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68. The frequency at which an athlete

69.

| 70.

| 71

72.

is exposed to a series of stimuli per
unit of time is called

(1) Volume of training

(2) Density of training

(3) Intensity of training

(4) Absolute intensity

- (5) Question not attempted

The ability of an athlete to exert
maximum force regardless of own
body weight is known as

(1) Relative strength

(2) Absolute strength
. (3) Power

(4) Maximum strength
(5) Question not attempted

What does FITT stand for in sports

training ?

(1) Frequency, Intensity, Time &
Type of Exercise

(2) Flexibility, Intensity, Time
and Type of Exercise

(3) Frequency, Intensity, Time’
and Training

(4) Flexibility, Intensity, Time
and Training

(5) Question not attempted

Which one of the following is
cardio-vascular endurance test ?
(1) Tuttle Pulse Ratio Test

(2) Margaria Power Test

(3) Phillip’s J.C.R. Test

(4) Scott Motor Ability Test

(5) Question not attempted

Build-up competitions are useful
for development of the following :

a. Performance capacity

b. Technical skill

c. Tactical ability

d. Conditioning level

Select the correct answer using
codes given below :

(1) a,b&conly

(2) Alla,b,c&d

(3) a&bonly

(4) b &conly

(5) Question not attempted

54
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74.

75.
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73.

4.

75.

Match List — I with List — IT and
select the correct answer by using
the codes given below the lists :

List -1 List-II
(Periods) (Characteristics)
A. Preparatory 1. Consolidation of
phase ~ technique
- B. Pre-competition 11. Biological
phase regeneration
C. Competitive  iii. Acquire general
phase physical
: preparation
D. Transition ° iv. Linkage of
phase performance
: factors
Codes :
N=B C D
(B mroav B 1
2y wian - B3
@) i v i i
( W B 3 d :
(5) Question not attempted

During recovery phase after
training, the recovery does not end
at pre-training but it over shoots
the pre-training level, which is
known as

(1) Overcompensation

(2) Supercompensation

(3) Undercompensation

(4) Load adaptation :

(5) Question not attempted
Which of the following is not

correctly matched for phases of
supercompensation ?

(1) Phasel : Durationof1 to 12
: hours

(2) Phase Il : Duration of 24 to
48 hours

(3) Phase III : Duration of 36 to
72 hours

(4) Phase IV : Duration of 3 to 7
days

(5) Question not attempted
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76.

[

78.

learned
Badminton, will facilitate the
learning of same skill in Squash
will come under which type of
transfer of training ?

1) Zero transfer

Forehand skill in J

2) Negative transfer
3) Positive transfer
4) Feedback transfer
5) Question not attempted
Match List — I with List — II :
List-1 List — I
A. Task-oriented 1. Inspires
leader people to
follow
B. Behavioural 2. Maintaining
approach a good
interpersonal
relationship
C. Relationship- 3. Leaders are
oriented leader made, not
born
D. Transformational 4. Setting
leadership goals and
getting the
job done

Select the correct answer by using ~
the codes given below :

Codes:

7 e 3 T SR )
f1)-=3 S o,
214 %1 3
(3) S5 i g 1

4y 3 2 1 4
(5) Questlon not attempted

Match List — I and List — II and
select the correct answer by using
the codes given below the lists :

List -1 List - II
(Development) (Developmental
Objectives)
A. Neuro-muscular I. Face
coordination challenge
B. Intellectual I1. Development
Development of strength
C. Emotional ITI. General motor
responses ability
D. Organic Power 1V. Solve problem
Codes:
e 2Ba€ - B
(y AIE. IV 1 1]
(Sloses 1 5 Al BTials | B |
5 Fe=HE 2 oA
@)=
(5) Question not attempted
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79.

81.

Match the following List — I with
List —1II:

List — 1 List - 1I
(Developmental (Characteristics)
- Age) =
A. Anatomical = i. Onset of

age puberty
B. Mental age ii. Mental
maturation
C. Chronological 1ii. Skeletal
age ' system
- D. Physiological iv. Year, month
age and days
Select the correct code :
Codes :
A B G5B

1) 5 1 ¥ v

C) "I TE A

(3) "I S Fav® T

(LR e e O

(5) Question not attempted
Which one of the following pairs is
not correctly matched ?

(1) Carbohydrates — Major source of

energy for the
human body
(2) Dietary fiber — Fat cells in
the body
(3) Trans fatty acid — Solidified fat
(4) Sterols — Derived fats
(5) Question not attempted
Which of the following

- philosophical theory advocates that

reality depends on the mind for
existence and that truth is
universal and absolute ?

(1) Idealism

(2) Progressivism

(3) Humanism

(4) Naturalism

(5) Question not attempted
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83.
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83.

| 84.

correct option from codes given

below :
List -1 List - 11
(Branch of (Focused on)
Philosophy)
'A. Epistemology 1. Orderly
reasoning
B. Logic ii. Knowledge
and method
C. Metaphysics  iii. Beauty and
art
D. Aesthetics iv. Nature of
reality
Codes:
A B € D
D 1 i Hi oIV
7y Y ey e e
3 1 ii iv 1
4 1u i | ) (S

(5) Questmn not attempted

According to Bookwalter, which of
the following is not one of the three
main  objectives of physical
education ?

(1) Health

(2) Ethical character

(3) Social efficiency

(4) Worthy use of leisure time

(5) Question not attempted -

Assertion (A) : A warming-up
should include an exercise
session with low-intensity,

callisthenic type and stretching
exercises.
Reason (R) : Such a warm-up

period increases both heart
rate, breathing and reduces
the amount of muscle and
joint soreness.
Choose the correct option :
Codes:
(1) Both (A) & (R) are individually
. true and (R) is the correct
explanation of (A).
Both (A) & (R) are individually
true but (R) is not the correct
explanation of (A).
(A) is true but (R) is false.
(A) 1is false but (R) is true.
Question not attempted

2)

(3)
(4
®)
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86.

87.

I WuRS S Wk oS ioTs Win

correct option from codes given
below :

List - I List - II
(Stages) (Developmental
Milestones)
A. Infancy - i. Gender
identification
B. Late childhood 1i. Linguistics
C. Adolescence  iii. Well
integrated
into society
D. Early iv. Growth spurt
adulthood :
Codes :
A B G P

(B i ) Mo

@ i i v i

3 1 B oH0E IV
My - oa W om
(6) Question not attempted

Recapitulatory theory of play was
proposed by

(1) Lumley

(2) Brand S. Mason

(3) G. Stanley Hall

(4) Herbert Spencer

(5) Question not attempted

Which one of the

statements is correct ?

(1) Essential fat is the fat stored
in the adipose tissue.

(2) Essential fat serves as an
energy . substrate for
metabolism.

(3) The essential type of fat is
found within tissues such as
muscles and nerve cells.

(4) Essential fat acts as an
insulator to retain body heat.

(5) Question not attempted

following




88.

89.

90.

9L;

frafafea 4 9 wrey gedi fheda =+ i 88. Which of the following are health
i related fitness components ?

TH DU ?
II. HgeH
TI1. weRfw ! amea ;

IV. 5<=3

% :

(1) haa I3RII i
(2) et 1T 3R 111
3) =t II, I 3R IV
) Faa 1R |

(5) IHTING A

R F1 39 w9 F Feey R Reen ;|
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g’ 7
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(5) IR ST

form el o nfgenst 3 yos €@« °
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(1) uead 3neftes (1920) ‘ ,
2) e S (2012)
(3) wied Adh (1908)
(4) U@ s (1900) |
(5) TARd T
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89.

90.

91.

L
IL.

I1I.
Iv.

Body composition
Balance
Muscular strength

Coordination

Codes:

ey
@
3
@
®)

I and I1 only

IT and III only

I1, IIT and IV only

I and III only

Question not attempted

Who has defined play as : “Play is
the natural unfolding of germinal
leaves of childhood” ?

(€Y
)
(3)
@
®)

Froebel

Harold

J.P. Thomas

C.A. Bucher

Question not attempted

According to young, three types of
audience are

(D
2
3

“4)
®)

Information seeking, Scheduled,
Recreation seeking
Conversional audience, Casual
audience, Information seeking
Information seeking, Recreation
seeking, Conversional audience
Self-centered, Hostile, Cordial
Question not attempted

From which Olympics women
competed in every sports ?

(1
2
3
4
(5)

Antwerp Olympics (1920)
London Olympics (2012)
London Olympics (1908)
Paris Olympics (1900)
Question not attempted
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94.

95.
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92.

93.

94.

i 95.

Match the following lists :

List -1 List - II
A. Social contact i. E. Thorndike &
theory S. Woodworth
B. Psycho-analytic ii. Plato
theory
C. Instinct theory 1ii.Sigmund
‘ Freud
D. Transfer of iv. MecDoughll
learning theory
Codes:
7, e L TG daden

) i w1
) U
B} WMEtR Rt Gy
)~ Bt WNeeTi
(5) Question not attempted

Which of the following has defined
wellness as “Wellness is an active
process through which people

~ become aware of, and make choices

towards, a more successful
existence” ?

(1) W.H.O.

(2) William R. Corbin

(3) National Wellness Institute
(4) Karen A. Welk

(5) Question not attemﬁted

What is the primary focus of a

humanistic philosophy in physical

education ?

(1) Winning and competition

(2) Development of the full
potential of each individual

(3) Standardized programs for all
students

(4) Emphasis on team sports

(5) Question not attempted

What are the two extensions of
axiology ?

(1) Ethics and metaphysics

(2) Ethics and aestheties

(3) Aesthetics and eplstemology
(4) Ethics and logic

(5) Question not attempted




96.

97.

98.

99.

100.
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1) 17 2) 18
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(3) FHeRigH fpehe ultwe (31 € i)
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(5) IHFTING T
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96.

97

98.

99.

100.

Increased muscle mass of a

wrestler is called
(1)
(2)
(3)
(4)
(5)

What is the main difference

between Greco-Roman and

freestyle wrestling in United World

Wrestling (UWW) tournaments ?

(1) Freestyle allows leg attacks;
Greco-Roman does not.

(2) Greco-Roman  allows
attacks; Freestyle does not.

(3) Both styles have the same

4)

(6))

Hyperphasia

Muscle Atrophy
Muscular Hypertrophy
Osteoporosis

Question not attempted

leg

rules.

Only Greco-Roman is played
in the Olympics.

Question not attempted

If the number of wrestlers in the
Knockout Tournaments or
Competition is 21, then how many
BYES will be given ?

¢ 11 (2) 16

3 14 4) 17

(5) Question not attempted

How many Bouts will be played in
the Single Knockout tournament
in which 19 wrestlers are

participating ?
(2) 18

(1) =17
(3) 19 (4) 16

(5) Question not attempted

Which organization governs
International wrestling tournaments ?
(1) Federation Internationale de

Football Association (FIFA)
(2) United World Wrestling
(3)

4)
()

International Cricket Counecil
(ICC)
National Basketball Association
(NBA)

Question not attempted
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101.

102.

103.

104.

wmaﬁzﬁﬁ%amﬁqmﬁ
FIFATEAE 7

(1) sERaiH AR A |
(2) 399 AW TS (FEAfore) H 8
Tl Teeia1 <l gardT ekt firefd 2 |
S50 Te i TR e £ |

(4) 358 gEHR UM e R |

(5) FgaRa WA

¥ | S Hl w5 f5va $%dft (United
World Wrestling) 9734 gRI A=dl 9H
Fvd A T 2 ?

(1) shI-Tere Pt

(2) Hepl-Tm Pl

(3) BRI FIA

@) =P
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1. Iwgh e e e e |
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(1) mgarrfiﬂamgéa

(2)
3) gama&a
TS HeH

@)
(5) 3G WA

e

101.

104.

How does a Repechage system
benefit wrestlers in a knockout
tournament ?

(1) It reduces the number of
matches.

It gives a second chance to
-wrestlers who lost to a finalist.
It guarantees a medal.

It offers prize money. .
Question not attempted

2

3
@
(6))

. Which of these is not a UWW-

recognized wrestling style ?
(1) Freestyle Wrestling

)
3)
4)
(5)

Greco-Roman Wrestling
Folkstyle Wrestling
Beach Wrestling

Question not attempted

. Arrange the correct sequence of a

wrestling match :

1. The referee starts the match.
2. The wrestler attempts
takedown.

Scoring and decision making
happen.

4. The match ends.

Answer :

1 2-51-54->3

2 1-2->3->4

B) 32515254

4 1-3->2-514

(6) Question not attempted

Who, regarded as one of the
greatest freestyle wrestlers in the
world, passed away at the age of 49
on 2 March, 2025 ?

(1) Abdulrashid Sadulaev

(2) Roman Vlasov

(3) Buvaisar Saitiev

(4) Alexander Karlin

(5) Question not attempted

a

3.




105.
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106.

107.

108.

109.

(5) ST ¥
ghEe # 3e-15 (U-15), +se
3R it o fore s safa w2 7
(1) 1f=e 2 2fme
(3) 3Te (4) 4fFe
(5) SITIRG A
afe 168 3 S % o9 BIS seEAfaR Al
AT F B AR fFEhqE R e !
(1) THHE 2 Wi ’
(3) WM (9 T
(5) rgaiE A
Fiefes $ed § W= Joned! H1 ST
(e fohd e Teh eI 9d 8 2
1 T @
(3) @ =R -
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mﬁ%ﬁgwﬁ%mmﬁmgﬁz |
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(1) < |
(2) FTH3IE % A1y WA ,
(38) =
(4) T3vE Ufs
(5) 3FTIRG WA
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106.

: 107.

' 108.

i 109.

i 105. Match the following :

(A) U-15 (1) 16-17 Years (From
15 with medical and
parental certificate)

(B) Cadets (ii) 14-15 Years (From

13 with medical and
parental certificate)
(C) Juniors (1i1) 19-23 Years (From
18 with medical and
parental certificate)
(D) Seniors (iv) 18—20 Years (From

U-23 17 with medical and
parental certificate)
Codes :
A) (B) (©) (D)
1 @ @ Gv) @@
@ @O @ @@ @)
@ (i) Gi).Gv) G)
@) @Gv) @ (@) @a)

(5) Question not attempted

What is the duration of each period
for U-15, cadets and veterans in a
wrestling bout ?

(1) 1 minute (2) 2 minutes
(3) 3 minutes (4) 4 minutes
(5) Question not attempted

Who has the authority to intervene
if there is a disagreement between
the referee and the judge ?

(1) Team Coach

(2) Referee

(3) Mat Chairman

(4) Spectators

(5) Question not attempted

How many bronze medals are
awarded in Olympic wrestling
using the repechage system ?

(1) One (2) Two

(3) Three (4) Four

(5) Question not attempted

Which tournament format is often
used in the Olympics for wrestling ?
(1) League

(2) Knock-out with Repechage

(3) Ladder

(4) Round Robin

(5) Question not attempted
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110.

111.
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113.

114.

115.
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110.

111.

112.

113.

114.

115.

In which year women’s wrestling
added to the Summer Olympics
Games ?

(1) 1996 (2) 2000

(3) 2004 (4) 2008

(5) Question not attempted

Who is first Arjuna Awardee in
Indian wrestling ?

(1) Master Chandgi Ram

(2) Hanuman

(3) Dara Singh

(4) Uday Chand

(5) Question not attempted

Which Rajasthan wrestler has
received the Maharana Pratap
Award in year 2004-05 ?

(1) Rekha Rathod

(2) Narender Kumar

(3) dJai Bhagwan

(4) Kavita Parasar

(5) Question not attempted

Who is known as “The Great Gama’
in wrestling history ?

(1) Dara Singh

(2) Ghulam Muhammad Baksh
(3) Sushil Kumar

(4) Chandgi Ram

(6) Question not attempted

Who is the first Indian wrestler to
win a Gold medal at the Senior
World Wrestling Championship ?
(1) Sushil Kumar

(2) Bajrang Punia

(3) Vinesh Phogat

(4) Ravi Kumar Dahiya

(5) Question not attempted

What does the term ‘fall’ or ‘pin’
mean in wrestling ?

(1) When both wrestlers leave
the mat.

(2) When a wrestler’s shoulders
touch the mat for a certain
time.

(3) When a Wrestler is
disqualified.

(4) When a wrestler wins by
points.

(5) Question not attempted




116.

117.

113

119.

120.

121.
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i 116. What is main purpose of Bent

4 Ty LY TR A8

! 117.
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| 118.

119.

120.

121.

@

Knee ‘Situps’ in wrestling ?

(1) -To measure muscular
strength and endurance of
trunk

) Te measure explosive
strength of legs

(3} ~Ta measure muscular
endurance of arm

(4) To measure -cardio-vascular
endurance

(5) Question not attempted

Where was Senior Asian Wrestling

Championship-2025 organised ?
(1) India (Jaipur)

(2) dJordan (Amman)

(3) America (New Jersey)

(4) Germany (Berlin)

(5) Question not attempted

Who has been given the Arjuna
Award of 2024 for outstanding
performance in wrestling ?

(1) Aman

(2) Sakshi Malik

(3) Vinesh Phogat

(4) Alka Tomar

(5) Question not attempted

What does
wrestling ?
(1) Changing
bottom to top
Running away from
opponent

Flipping the opponent out of
the mat ;

(4) Ending the match in a draw
(5) Question not attempted

Which of the following category is
included in Senior Men’s Freestyle
Wrestling in Olympic Games ?

(1) 86 kilogram (2) 60 kilogram
(3) 61 kilogram (4) 70 kilogram
(5) Question not attempted

‘Reversal’ mean in

position  from
the

@)

Round Robin is related to

Combination tournament
Ladder tournament
Knockout tournament
League (Nordic) tournament
Question not attempted

(1)
(2)
(3)
(4)
®)
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126.

127.
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122.

123.

124.

125.

127.

Who has received Major Dhyan
Chand Khel Ratna Award in
wrestling in 2021 ?

(1) Ravi Kumar

(2) Bajrang Punia

(3) Vinesh Phogat

(4) Sakshi Malik

(5) Question not attempted

n
actively

is not

What does ‘passivity’ mean

wrestling ?

(1) When a wrestler
When a wrestler
engaging in action

(3) When a wrestler performs a

(4) When a wrestler wins the
match

(5) Question not attempted

World Wrestling ?

(1) Nenad Lalovic

(2) Charles Bucher

(4) Akhroldjan Ruziev

(5) Question not attempted

Who is the present treasurer of

(1) Sanjay Kumar Singh

(2) Satya Pal Singh Deshwal

(3) Ummed Singh

(5) Question not attempted

What is takedown in wrestling ?

(1) When a wrestler scores by
When a wrestler brings the
opponent to the mat with control.

(3)

(4) When a wrestler wins by
points. —
Wrestling Bronze medalist Aman
Sehrawat participated in which

Olympic Games ?

57 kg Freestyle
65 kg Freestyle
65 kg Greco-Roman

attacks
(2)

takedown
Who is the President of United
(3) Mikhail Mamiashvili
Wrestling Federation of India ?
(4) Pappu Yadav

escaping.
2)

When a wrestler is penalized.
(5) Question not attempted
weight category at Paris 2024

57 kg Greco-Roman

Question not attempted
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129.

130.

131.

woman has won the
Gold medal in 62 kg weight
category in the Senior Asian
Wrestling Championship-2025 ?

(1) Mansi

(2) Muskan :

(3) Manisha Bhanwala

(4) Ritika

(5) Question not attempted

What is the duration of a Bout for

school boys and cadets in wrestling ?

(1) Two periods of 02 minutes
with a 30 seconds Break.

(2) Two periods of 02 minutes
with a 20 seconds Break.

(3) Two periods of 03 minutes
with a 30 seconds Break.

(4) Two periods of 03 minutes
with a 20 seconds Break.

(5) Question not attempted

What is the size of the protection

area of a wrestling mat at present

time ?

(1) 1.50 metre (2) 1.60 metre

(3) 1.70 metre (4) 1.40 metre

(5) Question not attempted

If a wrestler brings his opponent
into a dangerous position directly
from a standing position, how
many points will be given ?

(1) 03 points (2) 04 points
(3) O05points (4) 02 points

- () Question not attempted

132.

133.

(2

What is the duration of Break
between two periods in Senior
Women Wrestling Competition ?
(1) 30seconds (2) 20 seconds
(3) 01 minute (4) 03 minutes
(5) Question not attempted

What is size of central wrestling
mat area ?

(1) 09 m diameter
12 m diameter
06 m diameter
07 m diameter

Question not attempted

(3
4
®)
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134.

135.

136.

137.

138.

139.

What is a ‘Technical Fall’ in
freestyle wrestling ?

(1) Winning after a referee’s
decision

(2) Winning due to opponent’s .
injury

(3) Winning by pinning the
opponent

(4) Winning by 10 or more pomts

)

Total number of medals won by
Indian wrestlers in Olympic Games
till now

02 silver, 06 bronze

03 silver, 03 bronze

04 silver, 03 bronze

01 silver, 03 bronze

Question not attempted

Question not attempted

The immediate treatment of any
soft tissue injury during a wrestling
bout is called

Electrotherapy

RICE Protocol

Warming up

Massage

Question not attempted

The main aim of transitional
period in wrestling training

(1) Super compensation

(2) Stabilization

(3) Recovery

(4) Recreation

(5) Question not attempted

Under-20  National = Wrestling
Championship-2025 was organised at
(1) Coimbatore

(2) Kota

(3) dJaipur

(4) Bhopal

(5) Question not attempted

The World Wrestling Championships

are organized by which governing

body ?

(1) International
Committee (I0C)

(2) Federation Internationale de
Football Association (FIFA)

(3)

4)

United World Wrestling (UWW)
®)

Olympic

International Boxing
Association (IBA)
Question not attempted
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140.

141.

142.

143.

144.

What is the traditional form of

wrestling in India called ? :

(1) Judo (2) Kushti

(3) Sumo (4) Greco-Roman
(5) Question not attempted

The Refereeing Body in all

wrestling competltlons will be as

following :

(1) 02 Mat Chairman and 01 Judge

(2) 03 Referee :

(3) 02 Judge and 01 Referee

(4) 01 Mat Chairman, 01 Referee
and 01 Judge

(5) Question not attempted

In Greco-Roman wrestling, which
body parts can a wrestler use to
attack ?

(1) Only upper body

(2) Upper and lower body

(3) Only legs

(4) Only hands

(5) Question not attempted

In a wrestling skill test, how
endurance is evaluated ?
(1) By  performing multiple

takedowns in a limited time
(2) By lifting weights
(3) By sprinting
(4) By doing push-ups
(5) Question not attempted

How does a wrestler's confidence
affect performance ?
(1) High self-confidence tend to

perform better.

(2) Less self-confidence makes
wrestlers stronger.

(3) Self-confidence does  not
impact performance.

(4) Only diet matters, not
confidence.

(5) Question not attempted
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45. In which Olympic games K.D.

146.

| 147.

148.

149.

150.

Jadhav won the bronze medal ?
(1) Helsinki (2) London

(8) Melbourne (4) Rome
(6) Question not attempted

Which type of training enhances
anaerobic capacity in wrestlers ?

(1) Long distance running
(2) Interval training

(3) Yoga sessions

(4)
®)

Cooper test used to measure
wrestler’s

@
2)
(3)
(4)
(5)
Which of the following is not a test
item of JCR Test ?

(1) Shuttle Run

(2) Vertical Jump

(3) Chin-ups

(4) 600 Yard Run-walk

(5) Question not attempted

The Ballistic method is used to
develop in wrestling.

(1) Flexibility (2) Endurance
(3) Reaction time (4) Strength
(5) Question not attempted

Fartlek training is specifically used
to develop the wrestler’s

(1) Flexibility

(2) Co-ordination ability

(3) Speed

(4) Endurance

(5) Question not attempted

Light Jogging
Question not attempted

Endurance of cardiovascular
Flexibility

Minimum muscular strength
Hand and foot reaction time
Question not attempted
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